Chapter 5

Absorption
Accounts



olIn the previous chapter, we have seen accounts relating to amalgamation of
companies. In absorption, one of the existing companies, purchase the business
of another company and it includes the assets and liabilities of the vendor
company in its own assets and liabilities.

o In Amalgamation, two or more existing companies go into voluntary liquidation
and they form a new company to take over the business of existing companies.
Thus in amalgamation, the existing companies lose their existence and a newly
formed company comes into existence. Absorption is amalgamation of business
of two companies, in which only one company loses its existence. One of the
existing companies takes over the business of the other company.

o The accounts are written in the same way, as those of amalgamation, except that
the books of vendor company are to be closed, while the books of purchasing
company are continued.




o Thus, the accounts of absorption are divided into two parts: (1) Closing books of
one company whose business is taken over, (i.e., Vendor Company or Absorbed
Company), and (2) Making entries for purchase of business in the books to the

other company (i.e., Purchasing Company or Absorbing Company).

o The main point to be noted in case of Absorption is that the Purchasing Company
IS one of the old and existing companies whereas in case of Amalgamation, a
new company Is formed to take over the business of two or more companies.
Thus In case of Absorption, the Purchasing Company will absorb the assets and

liabilities of Vendor Company into its own assets and liabilities.
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. EQUITY AND LIABILITIES :
{i} Shareholders’ Funds:
(@) Share Capital
Lguiny Shace Capital of Rs. 1) cach
{b) Reserves and Surplus ;
General Reserve
Profil & Loss Adc
Workmen's Compensation Fund
{2}y Nop-Currept Liabilities :
(a) Long Term Bomowings @ 11% Debentures
{b) Lonp Term Provisions : Provident Fund
(3} Carrent Liabilities :
{3} Trade Pavables :
Creditors
Bills Fayables
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Il ASSETS: | e
. {1) . Noa-Chorrent Assets ; ! .l
_{a) Fixed Assels: : |

() Tangible Assels ';

- Land & Building ; 00
| ;
Plant & Machinery 50,000
Motor Car 30,000
(1) Intangible Assets : Goodwill | 20,000
(2) Current Assets : |
(a) Inventories : Stock 40,000
(b} Trade Receivables : Debtors 33,000
(c) Cashand Cash Equivalents ; Bank balance 15,000
Total 2,50,000 |




(1)

{2)
{7)

{4}
(3>

O above mentioned date, Zankar Lid. absorbed Payal Lod. with Toflowing

comditions
Zankar Litd. wili pive 4 equily shares af Rs. 10 each at market price aof Rs, 12

asainst 3 equiny shares ol Fayal Ltd,
Es. 5 in cash will be paid to each equity share of Payal Lid.
Zankar Lad, will give 119 debenlures at 1225 discount, in such anmount, so

that debeniure -helders Payal Lid. can get 10% premium.
Zankar Lrd. agrees 1o pay absamtion expenses upto Rs, 2,000,

Zankar L1d. has taken over all assets (except motar ¢ard and labilities.
FPayal Lid. sold the motor car a1 Rs, 35,000, Liabilities recarding workdien

compensation is Rs. 3,004 Payal Lid. paid this amiount. Actual absorption expenses

incurred are Rs, 4500,

Lankar Lid. valued the assets as ander

Land & Buikling Fs. 70,000
Plant & Machinerny Hs. 45006
s 35,000

Stock
Drebtors subjec? to 1022 Bad Debts Rescrve,

From above particulars :

fa) Prepare in books of Payal Ltd. _
(1) Realisation Alc {2} Equity Shareholders' Adc

(3} 11%5 Dxebentures Ade (1) Bank/Cash Afc.
{b) Write Fournal entries in books of Zankar Lid,




- Solution: Step — 1: Net Assets = Total Assets — Total Liabilities

Total Assets %
Land & Building 70,000
Plant & Machinery 45,000
Stock 35,000
Debtors 35,000
- 10% B.D.R. 3,500 31,500
Bank Balance 15,000
Total Assets 1,96,500
Less: Total Liabilities
11% Debentures 40,000
+ 10% Premium 4,000 44,000
Provident Fund 10,000
Creditors 30,000
Bills Payable 20,000,

1,04,000
Net Assets 92,500




Step — 2: Calculation of Purchase Consideration.

Particulars 4

Equity Share Capital
Old New
5 4
10,000 (?) (8,000 shares of X 10) 80,000
Security Premium (8,000 shares at X 2) 16,000
Cash
For every 1 sharesX 5

so for 10,000 shares (?) 50,000

Total Purchase Consideration 1,46,000

Step — 3: Goodwill or Capital Reserve:
Goodwill = Purchase Consideration — Net Assets
=3 1,46,000 — % 92,500
=3 53,500
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The batance sheet of Palak Company Lid. ason 3 1-3-2021 s 2% under ;

-

Particulars ;. Mpie - Rs,

- UITY AND LIABILITILS :
Ehﬂrehulders’ Funils:

i (a} Share Capital
4,000 Eqaity Shares of Ks. 100 cach ! 400,000
(51 Reserves and Sarplus © =
Gencral Reserve | ! 20006
FProfit & 1.oss Afc _ 100, 0
Worker's A ccident Compensation Fund ' 10N
{2y Mon-Curreznt Liahilities :
| (g} Long Tenn Borrowings @ 8% Lebentores L. &0.000
: (b} Long Term Frovisions : Provident Fund 10,00
| 33 Current Lialilities :
' at Trade Pavables:
| { Creditors 201, 06K)
' Bills Payuble ! _5.000

Talul  6,25.000)




II. ASSETS :
(1] Mop-Current Assets :
(al Tixed Asscis:

(i} Tangible Assets
Building 2.00.000
lurniure S [LO0E
hachinery | 1 46,000
fit) Intangible Asscls : Goodwill | 22 (100
{b} Mon-Currenl Invesliments | 10 {116
(2) Current Assets : |
{a] Trade Recelvables: : |
Diehlors ' g0, 000
Bills Recelvabic ' G000
(b Cash and Cash Bquivalents : |
(ash & Bank balanee 40,009
Tota 625,000




The Kanika Ltd. absorbed The Palak Ltd. on following conditions from 14—2021
(1) To take over all assets except investments and bills receivable.

(2) To take over liabilities except bills payable.  dobentures
3) Discharge the debenture debt at a discount of 5% by issue of 10% debentur
in Kanika Ltd.

(4) The equity shareholders of Palak Ltd. to be allotted 12 equity shares of k}fz;gllga
Ltd. of Rs. 10 each at a premium of Rs. 2 per share for every share held by

equity shareholders.
(5) Liquidation expenses Rs. 6,500 of Palak Ltd., are borne by Kanika Ltd.
(6) Value of fixed assets are 50% more than its book value.

(7) Palak Ltd. sold the investments for Rs. 25,000 and Rs. 50,000 was realised
from bills receivable.

(8) Bills payable paid in full.
You are required to prepare :

Ledger Accounts in the books of Palak Ltd. and calculate the amount of good-
will or capital reserve.




- Solution: Step — 1: Net Assets = Total Assets — Total Liabilities

Total Assets

Building 2,00,000

+ 50% more 1,00,000
Furniture 50,000

+ 50% more 25,000
Machinery 1,50,000

+ 50% more 75,000
Debtors
Cash & Bank Balance

Total Assets
Less: Total Liabilities

8% Debentures 1,50,000

- 5% Discount 7,500 1,42,500
Provident Fund 10,000
Creditors

Net Assets

20,000

3,00,000
75,000
2,25,000

80,000
40,000

7,20,000

1,72,500

5,47,500




Step — 2: Calculation of Purchase Consideration.

Particulars 4
Equity Share Capital
Old New
1 12
4,000 (?) (48,000 sharesofz10) 4,80,000
Security Premium (48,000 shares at R 2) 96,000
Total Purchase Consideration 5,76,000

Step — 3: Goodwill or Capital Reserve:
Goodwill = Purchase Consideration — Net Assets
=3 5,76,000 - X 5,47,500
=% 28,500
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g are the Balance Sheets of Anisa Ltd. and Ilamida Lid. as

Balance Shegts

Particulars

Anisa Ltd. 1 Hamida Litd,

MNote
Rs. b Rs.
1. EQUITY AND LIABILITIES . |
{1) Sharchoelders' Funds -
(a) Share Capital ;
Equity Shares of Rs. 100 cach
fully paid up 7.00,000 —
Equity Sharcs of Rs. 100 cach ) '
Rs, 50 paid u —_ '
{(b) Rescrves an[;[ Sur;?fus : >- 00400
General Reserve 20,000 1.00,000
(2) Non-Current Liabilitics : '
{a) ILong Term Borrowings :
12%0 IDebentures 3.00,000 2.00,000
(3) Currcent Liabilities :
(a) T1rade Pavables:
Credilors 2.50.000 1.90.000
Rills Payvable 60.000 48.000
Total 14.00.000 . 48,000
1II. ASSETS:
(1) Non-Current Assets :
(2) Fixed Assets : Tangible Asscts S, 60,000 5.50,000
(b) Non-Current Investments :
(M. V. Rs. 1,50,000) — 1,106,000
(c) Other Non-Current Assels :
Prc!imiﬂﬂ!’}’ Expcnses 50.000 28,0‘00
(2) Current Assets 3,90,000 2.60,000
Total 14,000,000 9,48,000




On 1-4'-2021, Anisa Ltd. agreed to absorb Hamida Ltd., on the following
conditions ;
| (1) The Fixed Assets of Anisa Ltd. as shown in the books are 20% less than the
market value, whereas the Current Assets of Hamida Ltd. includes stock wora

Rs. 92,000 which is overvalued by 15%.

(2)  The purchase consideration was o be satisfied by issue of 4 fully paid equity
shares of Anisa Ltd. in exchange of 10 equity shares of Hamida Ltd. on the

i
|

basis of intrinsic value of their shares and balance amount in cash. -
Prepare necessary accounts in the books of Hamida Ltd. and pass necessary

entries in the books of Anisa Limited.
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- Solution: Step — 1: Net Assets = Total Assets — Total Liabilities

Total Assets Anisa Ltd. Hamida Ltd.
Fixed Assets
(9,60,000 x 100 / 80) 12,00,000 5,50,000
Non-Current Investment (M. V.) 1,50,000
Current Assets 3,90,000
Current Assets other than stock (2,60,000 — 92,000) 1,68,000
Stock (92,000 x 100/ 115) 80,000
Total Assets 15,90,000 9,48,000
Less: Total Liabilities
12% Debentures 3,00,000 2,00,000
Creditors 2,50,000 1,00,000
Bills Payable 60,000 6,10,000 48,000 3,48,000
Net Assets - 9,80,000 - 6,00,000
Net Assets ~.9,80,000 _6,00,000

Intrinsic VValue of Share = :
No.ofEquity Shares 7,000 10,000

=% 140 =% 60




Step — 2: Calculation of Purchase Consideration.
Hamida Ltd.’s Shares, 10,000 shares x % 60 intrinsic value
=3 6,00,000 total purchase consideration

Payment of Purchase Consideration:
Equity Share Capital

Old New
10 4
10,000 (?) (4,000 shares of 2 100) 4,00,000
Security Premium (4,000 shares at X 40) 1,60,000
Cash (Balance amount) (6,00,000 — 5,60,000) 40,000

Total Purchase Consideration 6,00,000




